ul

A

LJJu—'

|

—e=r

<
PARTS

)®

2

l_l

Continental Cam & Cam Follower Applications

CAMSHAFT CAM FOLLOWER
ENGINE MODELS PIN PIN

A65 & 75 ALL 4546 21608
C75 & 85 40584 21608
C90 (SIDE FUEL PUMP) 530788 SA530851
C90 (VACUUM PUMP) 531146 SA530851
C90 (24 DEGREE O/LAP) 531076 SA530851
0-200-ALL EXCEPT B2 & B5 643067 SA530851
0-200-B2 & B5 628421 SA530851
GO-300-A & C SERIES 626126 SA530851
G0-300-C & D SERIES 628145 SA530851
E-165 & 185 (1/4" BOLTS) 530808 531128
E-165 & 185 (5/16" BOLTS) 536877 531128
E-225 (1/4" BOLTS) 531201 531128
E-225 (5/16" BOLTS) 536878 531128
10-346-ALL 630685 SA628488
10-360-ALL 629627 SA633106
TSI0-360-ALL 641060 SA633106
LTSIO-360-ALL 643069 SA633106
0, 10, & TSIO-470-ALL 10 & SA535661 SA628488 INTAKE
TSIO-520-ALL REAR SA646277 EXHAUST
ALTERNATOR DRIVES
IO & TSIO-520-ALL FRONT SA649520A3 SA628488 INTAKE
ALTERNATOR DRIVES SA646277 EXHAUST




a— ) — ©
SUreEeRIZIR
Al R PARTS
GTSIO-520-C, D, & H 643181 SA628488 INTAKE
641709 EXHAUST
GTSIO-520-ALL EXCEPT C, D, 643049 SA628488 INTAKE
&H 641709 EXHAUST
I0-550-B, & C SA649520-A3 SA646277 EXHAUST
SA628468 INTAKE
10-550-G 649322A1 SA628488 INTAKE
SA646277EXHAUST
10-550-D, E, F & L SA535661 SA646277 EXHAUST
SA628488 INTAKE




